

6.4 非調和振動

54

調和振動は特別 (2 階) 単

非調和項

$$L = \frac{1}{2} m \dot{x}^2 - \frac{1}{2} k x^2 - \frac{1}{3} d x^3 + \dots$$

$$m \ddot{x} + kx + dx^2 = 0$$



簡単な解はない!!



$x = A e^{\mu t}$ の形は使えない

A^2 の項も出てくる

① 振動論

55

$$(\alpha \text{ 項} + \beta \text{ 項} \text{ だけ})$$

$$\omega_0^2 = \frac{k}{m}, \quad \alpha_0 = \frac{\alpha}{m} \text{ だけ}$$

$$\ddot{x} + \omega_0^2 x + \alpha_0 x^2 = 0$$

$$\alpha_0 \text{ 項} + \beta \text{ 項} \text{ だけ}$$

$$x = x^{(0)} + x^{(1)} + \dots \quad \text{と展開する}$$

$$(\uparrow + \beta \text{ 項})$$

$$(\ddot{x}^{(0)} + \ddot{x}^{(1)}) + \omega_0^2 (x^{(0)} + x^{(1)}) + \alpha_0 (x^{(0)} + x^{(1)})^2 = 0$$

$$\alpha, \beta [0 \text{ 項}] \quad \ddot{x}^{(0)} + \omega_0^2 x^{(0)} = 0$$

$$\therefore \underline{\underline{x^{(0)} = A \cos(\omega_0 t + \theta)}}$$

$$[1 \text{ 項}] \quad \ddot{x}^{(1)} + \omega_0^2 x^{(1)} + \alpha_0 (x^{(0)})^2 = 0$$

$$\therefore \underline{\underline{\ddot{x}^{(1)} + \omega_0^2 x^{(1)} = -\alpha_0 A^2 \cos^2(\omega_0 t + \theta)}}$$

$$\hookrightarrow \text{この項は解ける!!}$$